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Invariance of strong interaction under used expressedas
invariance under rotations in abstract isospin space
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we get a pentaplet and a triplet
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One can also do qqqqqstates x wouldnotbesurprised ifthis comes
upin an exam
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if we have an Suez symmetry ofcolour then qqqqq
would not exist since there would be no colour singlet as
seen above

Returning to usefulstuff like actual baryons aaa
In an SUC2 ud flavour symmetry
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where the basis is
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remaining matrices form SUB group
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3 states in the middle
6 outerstates
according to multiplet rules
o once youhave triangle slatesdonot increase going inside
o if you don'thave triangle states increase by one goinginside

can reach centre in 6ways via ladder operators

only2 linearly independent so one state in middle not partof
octet
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remember singlet 43 unitdid tss
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shapes of dotted linesgiveus resulting multipletshapes
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blackdots lines are our original sextet
red dots are positions of new slates
number of red dots obtained bycounting nearest

number blackdots

OR
we know triangle will have t stateeachon periphery and
one in the middle don'tincrease no ofstates whenon triangles
Can see another octetwhich will one stateeach

on periphery

and 2 in the middle whenshape is nottriangle
increase onestalegoing in

n at

4 1
a u

I t t i sEyO
f I s I

s
Y l

Y 2

Mined
Symmetric
decuplet

symmetry
octet

Buildingontiplet
my

I

d u

1 I 1 I 7 IzI t l

I S



at a
ti ti

I I I I Is y i i t Is 1 1 o 6
I is I

TIME minedsymmetry
antisymmetric

singlet
tripletfrom303 octet

I 1
symmetric mined antisymmetric

singlet

Usinglet ads usdtdsu dust sud sdu

coloursinglet fromSUC3 colour symmetry
aaq bound states possible

cyclicpermutations ofads havethe signs

cyclic permutationsof usd have
ve signs



Usinglet
rr gg

BARYOI

MESOI Usinglet
rt 99

Mesons Winglettritggtbb

Baryons

kinglet rgb rbgtbrg grbtg.br bgr

SUMMARY
SU(2)


SU(3)




A mesons are bosons

baryons are fermions

Overall parityof 2 particle system in a state w orbitalang
mom L
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